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GENERAL INSTRUCTIONS FOR CANDIDATES

1. You are given a Test Booklet of 16 pages as well as an OMR (Optical Mark Recognition) Answer Sheet. The Test
Booklet contains 80 L|I.Il._".‘-illli.1'l‘ih H":I'lﬂlh' numbered from 1 to 80. Count the pages of the Test Booklet and be sure that
they are in proper order. Ensure that the Serial No, and the Code of the Test Booklet and the OMR Answer Sheet
are same. In case of mi:;rn:ﬂ-:h,i'd-:t’uclfcli:u:rupnnr:y in the Test Booklet and OMR Answer Sheet, report to your
Invigilator and get the Test Booklet and OMR Answer Sheet replaced.

2.  Answers are o be marked only inthe OMR Answer Sheel as per the example given below. Candidates are required
to indicate their answers at an appropriate place on the OMR Answer Sheet. Darken only one circle for each
question as per instructions given on Side-1 of the OMR Answer Sheet.

3. Foreach question, there are four probable answers, out of which only one is correct. The candidate is required to
select the correct answer and darken the corresponding circle of the chosen answer. Forexample, if your answer for
Question No. 37 15 (C), darken the circle @' as given below.

| QNo. | RESPONSE |
[ 7 | #® @O |

4. Only Blue/ Black Ball-point Pen is to be used to write on the OMR AnswerSheet. Candidates should bring their own
Ball-point Pen. Use of pencil is strictly prohibited.

5. The test will be of two hours duration from 11:30 a.m. to 01:30 p.m. and will have three sections with only objective
type queshions.

6.  Additional time of 40 minutes will be allowed for "Divyang students® (differently-abled students),

7. Asingle Test Booklet comprising all the three sections will be given to each candidate.

B. '.['huw are 80 questions in all for 100 marks as per details below. 15 minutes additional time is allowed for reading the
instructions from 11:15a.m. to 11:30 a.m.

Type of Tests Sections Number of Questions Marks
Mental Ability Test | Section -1 From1 to 40 = 40 Questions 50
Arithmetic Test Section - 11 | From 41 to 60 = 20 Questions 25
Language Test Section - [1I'| From ol to 80 = 20 Cuestions 25
Total 50 100
9. Allguestions are to be attempted. Ey 1_-r_u.-_-.Eu~.--ml|m-: carries equal marks
10

- You must atiemplt questions of each section because you have to qualily ineach &‘ttlﬂnsepﬂmh.h,

llr ﬁ'l.""ﬁlil'}ﬂ - I E]||"\ tL“l"l I‘:rﬂll"r_ ‘-H_'J!I.ﬁr‘lh'l ‘fll{'l. Il'.':l"ll Are }'J‘i”'”- Ill‘lll'qll |'| ].I.|I t
12, Cverwriting, striking, « utting, applyving white / corre tion Muid and erasing on the OMR Answer Shect is not allowed

Such answers will not be evaluated. Do not make any stray mark on the OMR Answer Sheet. No hange in the
darkened circle is allowed once marked in the OME Answer Sheet.

3, R“”i‘.]l work must not be done on the OMR Answer Sheet. Use Page Number 16 of the Test Booklet for rough work.
4. A bell will be rung after every 30 minutes,

No negabive mar king will be done
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MENTAL ABILITY TEST
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Directions : In Question Nos. 1 to 4, four figures (M), (B), (Cl and (D) have been given in each question,
Of these four figures, three figures are similar in some way and one figure is different. Select the figure
which is different. Darken the circle for the answer an the OMR Answer Sheet against the numbor
corresponding to the question.
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PART - 3

Directions : In Question Nos. 9 to 12, there is a question figure on the left side, a part of whichlis.nﬁssing.
Observe the answer figures (A), (B), (C) and (D) on the right side and find out the answer ﬁg‘lue.-wlﬁch‘,_,-
without changing the direction, fits in the missing part of the question figure in order to complete thﬁ:f
pattern in the question figure. Indicate your answer by darkening the circle in the OMR Answer EhEEI:q

against the number corresponding to the question, 4

Question Figure Answer Figures
9. Z] ﬂ A
(A) (B) © (D)
A % i-n- -
+ + !
10. \+ - 7 s +;/ I: +++ ’
+ |+
@) (B) © o B

11. AR K /‘ \

(A) (B) (©) (D)

3 REINESIRET

(A) (B) ©) (D)
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PART -5

Directions : In Question Nos. 17 to 20, there are two sets of two question figures each. The second e
has an interrogation mark (?). There exists a relationship between the first two question figures. Sim
relationship should exist between the third and the fourth question figure. Select one of the ans
figures which replaces the mark of interrogation. Darken the circle in the OMR Answer Sheet again
the number corresponding to the question.

Question Figures Answer Figures
PR, 4 |+ -+ ol K
17. & : g B Lol 2 ? A+ +| K 0| K
\X X X/ + 4 + A+ +| K O| K
(A) (B) (€)

s DR | A

(4) (B) (©) (D)

) (B) © (D) 1

20. II : I =l o R e .
(A) (B) (€)
- NJG23
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PART -7

Directions : In Question Nos. 25 to 28, there is a question figure on the left side and Emfr m::swer i;llgu:s
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure which 1s E:a:k:mnt‘
MIrror image of the question figure when the mirror is held at XY. Indicate your HItEWE" by da &
the circle in the OMR Answer Sheet against the number corresponding to the question.

Question Figure Answer Figures
x E
& ® O O ©__0
= |1 ©
O @ O o 0—0 e
E (A) (B) © (D)
X
2. ;% 7 % x [;?
¥ (A) (B) (C) (D)
A

7. | AVP PVA | |QVA

qVY qNA

(A) (B) (C) (D)

o

e
l

(#A) (B) (C)
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Directions : In Question Nos. 33 to 36, a question figure s
marked (A), (B), (C) and (D) are given on the right
from the cut-out pieces given in the queﬂﬁﬂn figl.:IIE";
the number corresponding to the question.

33.

35.

36.

Question Figure

/AN

(10)

PART - 9

given on the left
side. Select the answer

~ Answer Figures

side and four answer figures
figure which can be formed
Darken the circle in the OMR Answer Sheet against
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SECTION - 11
ARITHMETIC TEST

Directions : For every question, four probable answers as (A), (B), (C) and (D) are given. E}rd}r one nu:
of these is correet. Choose the correct answer and darken the circle in the OMR Answer Sheet agains

the number corresponding to the t[uﬂsﬁnn‘

43! A 1250 m long train covers a distance of

41.  Which of the following numbers is divisible .
by 3,4,5and 6 ? AR | km in 2/minites NS CH e
(A) 36 (B) 60 stationary train in 4 minutes. The length of
(€) 80 (D) 90 stationary train is :
(A) 1250 m (B) 500 m
42. 360 g is what percent of 3 kg ? (C) 750 m (D) 1000 m
(A) 12% (B) 15% |
{L:I 18% [[}} EI 0 g7 How |11i]|1}' rﬂrtﬂnﬂu]ﬂr I_‘i]ES l:lf dimenﬁiﬂl'ﬁ
43. My watch shows 7 : 05 a.m. It is 25 minutes 10 cm x 8 cm are required tojcover the floor
fast. The correct Hme is - of a hall having dimensions 12 mx 10 m °
(A) 7:30am. (B) 7 :50am. (A) 12,000 (B) 15,000
(C) 6:40 am. (D) 5 :40 a.m. (C) 10,000 (D) 18,000
4Dy The length, width and height of a water tank | 48, On simplification of
are 11 m, 10 m and 9 m respectively. The
tank is fil!u:{El with water upto 6 m height. The 10> 10 +.[400 + {100 — (50 —= 3 X 10)}].
empty portion of the water tank is : we get :
1 I A) 265
A 5 B) (f":} 65 (B) 65
- (<) 310 (D) 105
© 1 D 2
6 s | o .
: O l:rlul?ltl; r with 4 or more digits is divisible
3 L L'I- _'
45.  The difference between the cost price and :
_ - price anc A I A
selling price of a commodity is T 240. If the { .1 Wi v
profit is 20%, then the selling price is : (B) last digit is divisible by 8
{;] T 1200 (B) T 1440 (C)  last two digits are divisible by 8
(C) T 1800 (D) T 2440 (D) last three digits are divisible by 8
SPACE FOR ROUGH WORK
J
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53. The sum of two numbers is 8 and their
product is 15. What is the sum of their
reciprocals ?

5 E
- (8) 35 B) -3
. © 23 (D) 7
' 54. Five thousand five hundred fifty-five is
written as : !
(A) 5055 (B) 5505
(C) 5550 (D) 5555

55. If 15 is the sum of three consecutive numbers,
then the square of the middle number is :

®

- pl LR
=
r 1 B
. pans
) = N b !
__.'_ i [ ¥ o]
*

E@ A group of 80 students went on a Pl

60,

of 45 km/h. The time taken by |
{A} 'l_lm.mute. __(B] g?\zﬂns i
(C) 3 minutes (D) 4 minutes

20% of the students are girls and restare boys,
How many girls should be added to make the
boys as 70% ? !

(A) “16°
(C) 12

(B) 24
(D) 8

Rahim got 10 marks more than Dinesh.
George got 25 marks less than Rahim. The
total marks of all the three is 235, The marks
of George are :

(A) 16 (B) 25 (A) 80 (B) 65
(C) 36 (D) 49 (C) 90 (D) 75
= SPACE FOR ROUGH WORK i
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SECTION - 111

LANGUAGE TEST J
Directions : There are four passages in this Section. Each passage 1

twad by five questions. Read
4 fﬂ“ﬂ;;mﬂm Probablﬂ answery

each passage carefully and answer the questions that follow. For each qu ‘he correct answer an

as (A), (B), (C) and (D) are given. Only one out of these 1s correct. e ikation.
darken the circle in the OMR Answer Sheet against the number corresponding to q

Passage - 1

We cannot judge a person merely through
his outward appearance. Appearances are often
deceptive. It is difficult to know one’s virtues or
qualities at a glance. Sometimes we are drawn
towards a person by his outward appearance. But
later we realise that we judged him wrong. Many
things appear attractive superficially. But very
often things are not what they seem to be. We
should find out the true nature of a person or a

thing.

61. Outward appearances are often
(A} deceptive (B) strong

(C) clear (D) true

62. What is difficult to know at a glance ?
(A) One’'s name (B) One's address
(2] One's virtues (D) One's ambition

63. Mostly we are attracted towards a person by
his/her

(A) inner show
(B) attractive personality

[g/ outward appearance
(D) mental power

64. ‘Attractive’ is not the synonym of
(A) beautiful (B) pretty
(C) lovely (L) ugly

65. ‘Deceptive’ is a/an
(A) Adverb (B)
(€T  Adjective (D)

1|l-'rl.',t"h'

Noun

Passage - 2 o o

A volcano is a burning mountain with a Ei:{.df

hole running deep into the eartl':. Ef n::]:;.ta o
the opening is called the ‘crater’ of the volcano

Sometimes a volcano may remain quiet for centuries

: . become active. This is called
and then suddenly o du

‘volcanic r_-ruph'un". and great clou .
gas and steam rise from the crater accompanied
l':n.- a loud noise. Atter sometime hot molten rock
called lava, begins to flow down the mountain
This may continue for many days or weeks. Then
the volcano will ‘go to sleep’ again, or remai
‘dormant’ for many years. Most vnlr.m_un.w ar
found near the sea, leading to formation of islands

66. What is not true about a volcano ’
(AT Itis like big forest fires.
(B) It gives out ash, dust and lava
(C) Itis found mostly near the sea
(D) It creates a great hole deep into the
earth.

67. When a volcano erupts it is said to b

- — e "

(A) dormant (B) sleeping
(€] active (D) quiet
68. The lava that flows down the mountain is n
____ State.
(A) solid (B) liquid
(C) wvapour (D) gasecus
69. The antonym of ‘quiet’ here is L
(A) calm (B) sercne
(C) sull () active

70.  “Accompanied’ as used in the passage, means

f{,;'l'} alongwith (B) followed b
 (€) happened ) continued
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71. We get bored doing the

-7 .
x5 o

=L

r'!i-"ﬁ

kind of

jﬂb. ! “ik) )
(A) different ~ (B) . separate
(C) similar (D) apart 3
L (C) third (D) fourth J
' LA,
72. After some entertainment we can LN -
our work. 77.  He battled all odds in his ﬁfﬂﬂg 7
) :'. “ |
(A) end (B) finish (A) for (B) against = *?..
(©) close (D) resume (©) in (D) into Ty
I F:| } |
73. Laughter helps us in getting rid of | 78. He became a __ leader. '
' (A) one man (B) few men
(A) hereditary diseases only i
, (C) mob (D) mass
(B) unwanted tension
(C) unforesecable problems only 79. ‘Became’ is the s afithe verh:
(D) wviral diseases (A) present (B) past
74. ‘Resume’ means the same as 1 (C) future (D) indefinite
(A) take back (B)  start again 80. 'Complete’ is the synonyvm of _
(C) finish D) discontinue .
) (B) t (A) begin (B) commence
75. ‘Efficiency’ is the antonym of , (C)  finush (D) open
(A) edge (B) effectivencss
(C)  nefficiency (D) effusiveness ~oDo-
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